

問 6.6 (b) 回答.

$a = (1=0)$ の場合.

$$f^t(a) = \{ (x, y, z, w) \in S^3 \} \subset S^3 \subset \mathbb{R}^4 \setminus \{0\}$$

したがって S^1 と同相なものは...

($f^t(a) = \mathbb{R}^4 \setminus \{0\}$ の
2次元位相因子)

$$G: \mathbb{R}^4 \setminus \{0\} \rightarrow \mathbb{R}^2 \subset \mathbb{C} \\ (x, y, z, w) \rightarrow (x, y)$$

連続写

$$F: S^1 \hookrightarrow \mathbb{R}^4 \setminus \{0\} \\ (s, t) \rightarrow (s, t, 0, 0)$$

と S^1 (射影空間)
「包含」

$$G \circ f^t(a) = f^t(a) \rightarrow G(f^t(a)) = S^1$$

連続写

$$F: S^1 \rightarrow F(S^1) = f^t(a)$$

$$G \circ F = F \circ G = \text{Id} \Rightarrow F, G \text{ は同相}$$

同様にして $a = (0=1)$ の場合も同様.

α は一般の複素数, $\alpha = (1 \pm \lambda)$ なる $\lambda \in \mathbb{C} \setminus \{0\}$

$$f^{-1}(\alpha) = f^{-1}((1 \pm \lambda)) \quad \lambda = \mu + i\nu \in \mathbb{C}$$

$$= \left\{ \left(\frac{\cos 2\pi t}{1+\lambda^2}, \frac{\sin 2\pi t}{1+\lambda^2}, \frac{\mu \cos 2\pi t - \nu \sin 2\pi t}{1+\lambda^2}, \frac{\nu \cos 2\pi t + \mu \sin 2\pi t}{1+\lambda^2} \right) \mid t \in [0, 1] \right\}$$

$\in f^{-1}(\alpha) = \mathbb{C} \setminus \{0\}$ (複素数)

$$F = \mathbb{R}^4 \setminus \{0\} \rightarrow \mathbb{R}^4 \setminus \{0\}$$

同相

$$(x, y, z, w) \rightarrow (x, y, \mu z + \nu w, -\nu z + \mu w)$$

$$G = \mathbb{R}^4 \setminus \{0\} \rightarrow \mathbb{R}^4 \setminus \{0\}$$

$$(x, y, z, w) \rightarrow (x+z, y+z, \lambda^2 x - z, \lambda^2 y - w)$$

$$F \text{ 1-1 } f^{-1}(\alpha) \text{ } W := \left\{ \left(\frac{\cos 2\pi t}{1+\lambda^2}, \frac{\sin 2\pi t}{1+\lambda^2}, \frac{\lambda^2 \cos 2\pi t}{1+\lambda^2}, \frac{\lambda^2 \sin 2\pi t}{1+\lambda^2} \right) \mid t \in [0, 1] \right\}$$

同相

$$G \text{ 1-1 } W \text{ } f^{-1}(0) = \{(x, y, 0, 0) \in \mathbb{S}^3\}$$

同相 1-1

$$a = (1 = \lambda) \text{ のとき } A = \mu + i\nu \text{ とおく}$$

$$\frac{z + i w}{x + iy} = \lambda = \mu + i\nu \quad (1)$$

$$\Rightarrow z + i w = (x(\mu - \nu y) + i(y\nu + \mu x))$$

$$\frac{1}{x} x^2 + y^2 + z^2 + w^2 = 1 \text{ より}$$

$$|\lambda|^2 = \frac{|z + i w|^2}{|x + iy|^2} = \frac{z^2 + w^2}{x^2 + y^2} \quad (2)$$

$$\Rightarrow x^2 + y^2 = \frac{1}{1 + |\lambda|^2} \quad z^2 + w^2 = \frac{|\lambda|^2}{1 + |\lambda|^2}$$

(1), (2) より

$$f^{-1}(a) = f^{-1}((1 = \lambda))$$

$$= \left\{ \left(\frac{\cos 2\pi t}{1 + |\lambda|^2}, \frac{\sin 2\pi t}{1 + |\lambda|^2}, \frac{\mu \cos 2\pi t - \nu \sin 2\pi t}{1 + |\lambda|^2}, \frac{\nu \cos 2\pi t + \mu \sin 2\pi t}{1 + |\lambda|^2} \right) \mid t \in [0, 1] \right\}$$

とある。